SEAL SIZE — 1 5/8 TYPE — ZNS
BILL OF MATERIAL

NO |QTY DESCRIPTION LENGTH | MATERIAL | DRAWING # | SHEET #

ASSY| 1 |ZN CARTRIDGE SEAL ASSEMBLY| —-— ——  |ZNS1625R1 1
A |2 DOWEL PIN 1/8 X 1/2 1/2 —_— _— 1
B | 4 ZN CLIP — BRASS | ZNCLP4 1
C |4 SHCS 1/4—20 UNC 1 316 S.S. —— 1
D | 4| SETSCREW 1/4—28 UNF 7/16 | 316 S.S. — 1
E | 4 STUD 3/8—16 UNC 3” 316 S.S. — 1
F | 4 HEX NUT 3/8—16 UNC —— | 316 S.S. — 1
G |1 ROTARY O—RING — VITON —224 1
H | 1 ROTARY MOUNT O—RING — VITON 139 1
| 1 WAVE SPRING —— | 17—7 PH |WS1625ZA/N| 1
J |1 STATIONARY O—RING — VITON —228 1
K | 1 | 2=1/4x2—7/8x1/16 GASKET | —— TEFLON |GT1625ZNGLD| 1
L | 1 ZN R1 GLAND — 316L | ZN1625G1 3
M | 1 STATIONARY — SIC  |ZA1625BR2 5
N | 1 ROTARY INSERT — SIC _ [ZNS1625AR4 6
0 |1 ROTARY COLLAR — 316L [ZNS1625A1R4| 4
P |1 SLEEVE O—RING — VITON —223 1
R | 1 RETAINING RING — 302SS |RR1625ZND 1
S |1 SEAL SLEEVE —— 316L | ZNS1625S 8




-

ELUSH DETAIL

|

92.375%£0.375
STUFFING
BOX BORE

#1.62570-999

NOTE:
IMPELLER NOT SHOWN

ZM TECHNOLOGIES
2250 STEWART St. UNIT #6
STOCKTON CA. 95205
PHONE (209) 547-1965
FAX (209) 464-8140
RE
DWG #:

UUUUU DRAWN BY:

SHEET #: | APPROVED:

GLAND STY:E
4/6/04 FLUSH RE

SEAL KIT CONSISTS OF: B

SEAL SIZE — 1 5/8 | TYPE — 2Ns
BILL OF MATERIAL
[ 'NO_[aTY] LENGTH | MATERIAL |
ASSY — —-—
[ A 172 -
(B — BRASS
—+ U AL LR
[ E m. 316 SS.
F H U — | 316 S.S.
C ___ROTARY O—RING __ el VITON
: ROTARY MOUNT _O—RING — VITON
—__ WAVE SPRING____ —
STATIONARY O—RING —
3 2-1/4x2—7/8x1/16 GASKET | ——
L ZN_R1_GLAND —
™ STATIONARY —
N ROTARY INSERT —
o ROTARY COLLAR =
P SLEEVE_O—RING —
R RETAINING RING —
s SEAL_SLEEVE =

i

STUD/BOLT SIZE 3/8

MIN. BOLT CIRCLE |3-1/2

mmmmmmmmmmm

b C.G H LJ K MNOPRS
:B,C G H |, J. K. M, N, P, R




SEAL SIZE — 1 3/4 TYPE — ZNS
BILL OF MATERIAL

NO |QTY DESCRIPTION LENGTH | MATERIAL | DRAWING # | SHEET #

ASSY| 1 |[ZN CARTRIDGE SEAL ASSEMBLY| —-— ——  |[ZNS1750R1 1
A | 2| DOWEL PIN 3/16 X 1/2 1/2 —— — 1
B | 4 ZN CLIP —— BRASS | ZNCLP4 1
C |4 SHCS 1/4—20 UNC 1 316 S.S. —— 1
D | 4| SETSCREW 1/4—28 UNF 1/2 | 316 S.S. — 1
E | 4 STUD 1/2—13 UNC 3" | 316 S.S. — 1
F | 4 HEX NUT 1/2—13 UNC —— | 316 S.S. — 1
G | 1 ROTARY O—RING —— VITON —225 1
H | 1 ROTARY MOUNT O—RING —— VITON —141 1
|| 1 WAVE SPRING —— | 17—=7 PH |WS1750ZA/N| 1
J | 1 [ STATIONARY RETAINER O—RING| —- VITON —229 1
K | 1| 2-3/8X3 GLAND GASKET — TEFLON |GTZN1750GLD| 1
L |1 ZN R1 GLAND —— 316L | ZN1750GR1 3
M| 1 STATIONARY RETAINER —— 316L |ZA1750B1R4| 5
N | 1 ROTARY INSERT —— SIC _ [ZNS1750AR4 6
0 | 1 ROTARY COLLAR —— 316L |ZNS1750ATR4| 4
P | 1 | STATIONARY MOUNT O—RING | —— VITON —143 1
R | 1 STATIONARY _ INSERT —— SIC ZA1750BR4 7
S |1 SLEEVE O—RING —— VITON —224 1
T | 1 RETAINING RING —— 302SS  |RR1750ZND 1
U | 1 SEAL SLEEVE —— SIC ZNS1750S 9




SEAL SIZE — 1 3/4

| TYPE — 2Ns

BILL OF MATERIAL

c|-fololololzlel-{x| |- |o 'nlmlulnlwl) g 3

IIIIIIIIIIIIIII“‘-IS-I.SII%

SEAL KIT _CONSISTS OF: B, C, G,
: B, C,

=4

NOTE: T
IMPELLER NOT SHOWN
_ 2-1/16" __|
LL / TO FIRST OBST.
STUFFING BOX
ZM TECHNOLOGIES NOTES

2250 STEWART St. UNIT #6
STOCKTON CA. 95205
PHONE (209) 547-1965

FAX (209) 464-8140

qqqqq " ZNS CARTRIDGE SEAL ASSEMBLY

ZNS 1-3/4"
DATE:

1]
II-

4/6/04

GLAND STY;E
FLUSH

DRAWN BY:
RE

DWG #:

ZNS1750R1

10F9

mmmmm

STUD/BOLT SIZE 3/8

1/2

MIN. BOLT CIRCLE |3-5/8

3-3/4

|REV]

DESCRIPTION

1 BY | DATE




SEAL SIZE — 27 TYPE — ZNS
BILL OF MATERIAL

NO |QTY DESCRIPTION LENGTH | MATERIAL | DRAWING # | SHEET #

ASSY| 1 |[ZN CARTRIDGE SEAL ASSEMBLY| —-— ——  |ZNS2000R1 1
A | 2| DOWEL PIN 3/16 X 1/2 1/2 —— — 1
B | 4 ZN CLIP —— BRASS | ZNCLP4 1
C |4 SHCS 1/4—20 UNC 1 316 S.S. —— 1
D | 4| SETSCREW 1/4—28 UNF 1/2 | 316 S.S. — 1
E | 4| HEX BOLT 1/2—13 UNC 3" | 316 S.S. — 1
F | 4 HEX NUT 1/2—13 UNC —— | 316 S.S. — 1
G | 1 ROTARY O—RING —— VITON —227 1
H | 1 ROTARY MOUNT O—RING —— VITON —148 1
|| 1 WAVE SPRING —— | 17—7 PH | WS2000ZA/N| 1
J | 1 [ STATIONARY RETAINER O—RING| —- VITON —231 1
K | 1 |2=5/8x3—1/4 GLAND GASKET| —— TEFLON | GTZN2000GLD 1
L |1 ZN R1 GLAND —— 316L | ZN2000GR1| 3
M| 1 STATIONARY RETAINER —— 316L | ZA2000B1R4| 5
N | 1 ROTARY INSERT —— SIC | ZNS2000AR4| 6
0 | 1 ROTARY COLLAR —— 316L |ZNS2000A1R4| 4
P | 1 | STATIONARY MOUNT O—RING | —— VITON —148 1
R | 1 STATIONARY  INSERT —— SIC ZA2000BR4 7
S |1 SLEEVE O—RING —— VITON —226 1
T | 1 RETAINING RING —— 302SS | RR2000ZND 1
U | 1 SEAL SLEEVE —— 316L ZNS2000S 9




SEAL SIZE — 2 [ TYPE — 2Ns

§|%|§
R
:

;
3
;
:

BILL OF MATERIAL

NO DESCRIPTION LENGTH | MATERIAL | DRAWING §# |
ASSY| 1 |[ZN CARTRIDGE SEAL ASSEMBLY| —— —— | ZNS2000R1

A |2 172 —= —
B | 4 ZN_CUP — BRASS | ZNCLP4
- =

4 o -—

€ = ¥ _[316ss. | —

F | 4 Hi - — 316 S.S. -

c ROTARY O—RING — VITON | —227

H ROTARY _MOUNT_O-—RING = MITON =148

1 WAVE_SPRING — | 17-7 PH
J STATIONARY RETAINER O—RING| —— WITON | —231

K 2-5/8x3—1/4 GLAND GASKET| —— | TEFLON |GTZN2000GLD
L ZN_R1_GLAND — 316L__| ZN200OGR1
™ STATIONARY RETAINER — 316L__ | ZA2000B1R4] 5 |
N ROTARY INSERT — SIC___|ZNS2000AR4| 6 |
0 ROTARY COLLAR — 316L__|ZNS2000A1R4| 4

P —
R —
Im J——

T g
IC J——

316L ZNS2000S

©

NOTES:
e o e s O R R i R Ak
PHONE (200, 2473008 DRAWING WITHOUT WRITTEN MIN. BOLT CIRCLE | 3.875 |4.000
FAX (209) 464-8140 AUTHORIZATION IS IS PROHIBITED

DWG #: SHEET #: | APPROVED:




SEAL SIZE — 2-1/2 TYPE — ZNS
BILL OF MATERIAL

NO |QTY DESCRIPTION LENGTH | MATERIAL | DRAWING # | SHEET #

ASSY| 1 |[ZN CARTRIDGE SEAL ASSEMBLY| —-— ——  |ZNS2500R1 1
A | 2| DOWEL PIN 3/16 X 1/2 1/2 —— — 1
B | 4 ZN CLIP —— BRASS | ZNCLP4 1
C |4 SHCS 1/4—20 UNC 1 316 S.S. —— 1
D | 4| SETSCREW 1/4—-28 UNF 1/2 | 316 S.S. — 1
E | 4 STUD 5/8—11 UNC 3" | 316 S.S. — 1
F | 4 HEX NUT 5/8—11 UNC —— | 316 S.S. — 1
G | 1 ROTARY O—RING —— VITON —231 1
H | 1 ROTARY MOUNT O—RING —— VITON —152 1
|| 1 WAVE SPRING —— | 17—=7 PH |WS2500ZA/N| 1
J | 1 | STATIONARY RETAINER O—RING| —- VITON —235 1
K | 1 |3—1/8X4—3/4 GLAND GASKET| —— TEFLON |GTZN2500GLD| 1
L |1 ZN R1 GLAND —— 316L |ZN2500GR1 3
M| 1 STATIONARY RETAINER —— 316L | ZA2500B1R4| 5
N | 1 ROTARY INSERT —— SIC  |ZNS2500AR4 | 6
0 |1 ROTARY COLLAR —— 316L  |ZNS2500ATR4| 4
P | 1 | STATIONARY MOUNT O—RING | —— VITON —152 1
R | 1 STATIONARY  INSERT —— SIC  |ZA2500BR4 7
S |1 SLEEVE O—RING —— VITON —230 1
T | 1 RETAINING RING —— 316SS  |RR2500ZND 1
U | 1 SEAL SLEEVE —— 316L | ZNS2500S 9




SEAL SIZE - 2-1/2 | TYPE — 2Ns
BILL OF MATERIAL
1/4 NPT NO DESCRIPTION LENGTH | MATERIAL | DRAWING # | SHEET #]
TANGENTIAL SEAL FLUSH [AssY] 1 CARTRIDGE SEAL ASSEMBLY| —— —— __|ZNS2500R1
[ A 12 172 == 1 -
B | 4 ZN_CLIP — BRASS | ZNCLP4
/ C Ul e 1 316 SS. | —
4 [ D |4 HNw“ 316_S.S. —
\.@ E |4 U > _|316sSs. | —
— F |4 —— | 316 SS. o
||_> ___ROTARY O—RING _ = VITON =231
_ — a H ROTARY_MOUNT O—RING — VITON
v 1 WAVE_SPRING = 1
ELLSH DETAIL _ STATIONARY RETAINER O—RING| —— 3
K| 1 [3-1/8X4-374 GUAND GASKET| — 4
L ZN_R1_GLAND — 3
M ] 1 STATIONARY RETAINER = 5
N ROTARY_INSERT —
5 ) ROTARY_COLLAR — 4
[ P STATIONARY _ MOUNT O—RING | —— 1
R STATIONARY _INSERT — 7
$3.25040.375 S —
S, = =
- - - 1]
$2.500+0:009 ®
sl | SHAFT
, // \ ;o
/ — f‘k e,
NOTE: ®) _
IMPELLER NOT SHOWN
L >
__ 2-1/16"  __|
TO FIRST OBST.
STUFFING BOX
ZM TECHNOLOGIES zwq;»mm”.m OF ZMT. INC. STUD/BOLT SIZE 3/8 | 1/2
S St. PROPERTY
B OCKTON CA. 95205 USE OR MAKING COPIES OF THIS MIN. BOLT CIRCLE | 4-3/8[4-1/2
PHONE (209) 547-1965 DRAWING WITHOUT WRITTEN
FAX (209) 464-8140 AUTHORIZATION IS IS PROHIBITED.
qqqqq * ZNS CARTRIDGE SEAL ASSEMBLY
ZNS 2-1/2" _
ATE: DRAWN BY: DWG #: SHEET #: | APPROVED :

: D STY;E ate:
4/10/04 FLUSH RE ZNS2500R1 10F9 RE 10/07/05 [Rev] DESCRIPTION TEv] pAare




SEAL SIZE — 3 TYPE — ZNS
BILL OF MATERIAL

NO |QTY DESCRIPTION LENGTH | MATERIAL | DRAWING # | SHEET #

ASSY| 1 |[ZN CARTRIDGE SEAL ASSEMBLY| —-— ——  |ZNS3000R1 1
A | 2| DOWEL PIN 3/16 X 1/2 1/2 —— — 1
B | 4 ZN CLIP —— BRASS | ZNCLP4 1
C |4 SHCS 1/4—20 UNC 1 316 S.S. —— 1
D | 4| SETSCREW 1/4—28 UNF 1/2 | 316 S.S. — 1
E | 4 STUD 5/8—11 UNC 3" | 316 S.S. — 1
F | 4 HEX NUT 5/8—11 UNC —— | 316 S.S. — 1
G | 1 ROTARY O—RING —— VITON —234 1
H | 1 ROTARY MOUNT O—RING —— VITON —154 1
|| 1 WAVE SPRING —— | 17—7 PH |WS3000ZA/N| 1
J | 1 [ STATIONARY RETAINER O—RING| —- VITON —239 1
K | 1 |3—3/4X4—3/8 GLAND GASKET| —— TEFLON |GTZN3000GLD| 1
L |1 ZN R1 GLAND —— 316L |ZN3000GR1 3
M| 1 STATIONARY RETAINER —— 316L | ZA3000B1R4| 5
N | 1 ROTARY INSERT —— SIC  |ZNS3000AR4 | 6
0 |1 ROTARY COLLAR —— 316L  |ZNS3000ATR4| 4
P | 1 | STATIONARY MOUNT O—RING | —— VITON —154 1
R | 1 STATIONARY _ INSERT —— SIC  |ZA3000BR4 7
S |1 SLEEVE O—RING —— VITON —234 1
T | 1 RETAINING RING —— 316SS_ |RR3000ZND 1
U | 1 SEAL SLEEVE —— 316L | ZNS3000S 9




/7o
N -
W%&té o

#3.750+0.375
STUFFING

BOX

SEAL SIZE - 3

| TYPE - 2NS

i\

o

]

ql
)
2iE
4>u‘
oo
xIZ|
1t

IIIIIIIIIIIIIII'“-ISI—-ISIIS
B |

b

|ZN _CARTRIDGE SEAL ASSEMBLY|
4

2N CUP

EREREN

IC -olmlxl'vlolzlzlr =

IMPELLER NOT SHOWN

N
7

_-©®

\k _—©
I

~

%

BILL OF MATERIAL

/e ’
| 2-1/16" ___|
TO FIRST OBST.
STUFFING BOX
ZM TECHNOLOGIES NOTES:
2250 STEWART St. UNIT #6 THIS IS PROPERTY OF ZMT, INC.
STOCKTON CA. 95205 USE OR MAKING COPIES OF THIS
PHONE (209) 547-1965 DRAWING WITHOUT WRITTEN
FAX (209) 464-8140 AUTHORIZATION IS IS PROHIBITED.
qqqqq “ ZNS CARTRIDGE SEAL ASSEMBLY
ZNS 3"
DATE: ST SHEET #: APPROVED:

GLAND STY:E
10/07/05 FLUSH

Date:
ZNS3000R1 10F9 RE 10/07/05

STUD/BOLT SIZE 1/2

5/8

MIN. BOLT CIRCLE |5-3/4|5-7/8

[REV] DESCRIPTION






